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S.Thomas’ College – Gurutalawa 

GRADE:- 9     kPl;ly; gapw;rpfs;               Maths 

 
01) nghJ cWg;G 5n + 2 MfTs;s njhlhpd; 

   i) Kjy; ehd;F cWg;Gf;fis vOJf.  
   ii) 12k; cWg;igf; fhz;f. 
   iii) 92 ,j;njhlhpd; vj;jidahtJ cWg;ghFk;. 
   iv) (n – 3 ) k; cWg;igf; fhz;f. 
 
02) nghJ cWg;G 7 - 4n MfTs;s njhlhpd; 
   i) Kjy; ehd;F cWg;Gf;fis vOJf.  
   ii) 12k; cWg;igf; fhz;f. 
   iii) -93 ,j;njhlhpd; vj;jidahtJ cWg;ghFk;. 
   iv) (n + 2 ) k; cWg;igf; fhz;f. 
 
03) gpd;tUk; vz; njhlh;fspd; nghJ cWg;igf; fhz;f. 
   i) 7, 11, 15, 19, ……. 

       ii) 23, 20, 17, 14, …… 

       iii) -5, -7, -9, -11, …… 

       iv) -17, -12, -7, -2, …… 

 

04) gpd;tUtdtw;iw Jtpj vz;zhf khw;Wf. 
   a) 57  b) 108    iii) 253   iv) 320   v) 154 

 

05) gpd;tUtdtw;iw jrk vz;zhf khw;Wf. 
      a) 1100,uz;L b) 10110,uz;L               iii) 11011,uz;L         iv) 11101,uz;L         v) 101011,uz;L 
 
06) RUf;Ff. 
   a) 1101,uz;L + 1100,uz;L                           b) 11011,uz;L  + 1110,uz;L  

      c) 1100,uz;L  - 1011,uz;L     c) 11101,uz;L - 10110,uz;L  

 

07) tphpj;njOJf. 
       a) (x + 3 ) ( x + 2 )    b) ( a + 4 ) (a – 3 ) 

       c) ( p- 5 ) ( p + 3 )    d) ( y – 6 ) ( y – 3 ) 

 

08) fhuzpg;gLj;Jf. 
   a) x2 + 11x + 24    b) y2 - 12x + 20 

       c) p2 + 5p – 36    d) a2 – 12a – 45 

 

09) RUf;Ff. 
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10) e];kp &.8 000w;F irf;fps; xd;iw thq;fp mjid & 10 000w;F tpw;whh; vdpd; fpilj;j  
,yhg rjtPjj;ijf; fhz;f. 

 
 
 



2 
 

 
rjtPjk; 

01) &. 8000 w;F thq;fpa njhiyNgrp &. 10 000 w;F tpw;fg;gl;lnjdpd;  
i) fpilf;Fk; ,yhgj;ijf; fhz;f. 

ii) ,t;tpw;gidahy; fpilf;Fk; ,yhg rjtPjj;ijf; fhz;f. 
 
02) &. 1 200w;F thq;fpa Nrl; xd;W rpwpa gOJ fhuzkhf &1 000w;F tpw;fg;gl;LJ.  

i) el;lj;ijf; fhz;f. 
ii) Vw;gLk; el;l rjtPjj;ijf; fhz;f. 

 
03) & 15 000w;F thq;fpa nghUs; 12%  ,yhgk; ngwf; $bathW tpw;fg;gl;lJ. 

 i) fpilf;Fk; ,yhgj;ijf; fhz;f. 
ii) tpw;w tpiyiaf; fhz;f. 

 
04) & 35 000w;F thq;fpa nghUs; 15%  el;lj;jpw;F tpw;fg;gl;lnjdpd;  

i) el;lj;ijf; fhz;f. 

ii) tpw;w tpiyiaf; fhz;f 
 
05) & 20 000 w;F thq;fpa nghUs; 10%  ,yhgk; ngw tpw;f Ntz;ba tpiyiaf; fhz;f. 
 
06) ehjd; &.80 00w;F fzzp xd;iw thq;fp 5% el;lj;jpw;F tpw;whh; vdpd; tpw;w tpiyiaf; fhz;f. 
 
07) &.30 000 tpiy Fwpf;fg;gl;l nghUs; tpw;gidapd; NghJ 8% fopT nfhLj;J tpw;fg;gl;lJ. 

 i) nfhLf;fg;gl;l fopitf; fhz;f.  
ii) nghUs; tpw;fg;gl;l tpiyiaf; fhz;f. 

 
08) &.45 000w;F nfhs;tdT nra;ag;gl;l mYkhhp xd;W 20% ,yhgk; ngwf; $bathW tpiy 

Fwpf;fg;gl;L tpw;gidapd; NghJ 5% fopT nfhLj;J tpw;fg;gl;lJ.  
 i) Fwpj;j tpiyiaf; fhz;f. 

 ii) tpw;w tpiyiaf; fhz;f. 
 iii) fpilj;j ,yhgk; vt;tsT? 
 iii) fpilj;j ,yhg rjtPjj;ijf; fhz;f. 
 
09) TV xd;iw &. 70 000w;F tpw;gid nra;jjdhy; 40% ,yhgk; fpilj;jnjdpd; mjid 

nfhs;tdT nra;j tpiyiaf; fhz;f. 
 
10) &. 7200w;F tpw;wjdhy; 20% el;lk; Vw;gl;lnjdpd; mjid nfhs;tdT nra;j tpiyiaf; fhz;f. 
 
11) nghUs; xd;W 5% fopT nfhLj;J &.6650w;F tpw;fg;gl;lJ vdpd; Fwpj;j tpiyiaf; fhz;f. 
 
12) jufh; xUth; &.800 000w;F fhzp xd;iw tpw;gjw;F 3% juF mwtpLfpwhh; vdpd; 
 i) mth; ngWk; juFg; gzj;ijf; fhz;f. 

ii) fhzp chpikahsh; ngWk; gzj;ijf; fhz;f. 
 

13) tPL xd;iw &.5 000 000 w;F tpgid nra;jjd; %yk; jufh; xUth; &. 700 000I juF 
gzkhfg; ngw;whh; vdpd; mwtplg;gl;l juF rjtPjj;ijf; fhz;f. 

 
14) 6% juF mwtpLk; jufh; &. 24 000I juFg; gzkhfg; ngw;whh; vdpd; nghUis tpw;w 

tpiyiaf; fhz;f. 
 
15) 5% juF mwtpLk; jufh; %yk; fl;llk; xd;iw tpw;w chpikahsUf;F &.570 000 

fpilj;jnjdpd; fl;llk; tpw;fg;gl;l tpiyiaf; fhz;f.  


